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. Do not tum over this page until you are told to do so.
. Follow all instructions carefilly.

. Show your working clearly as marks are awarded for correct working.
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4. Answer all questions.

5

6. You are NOT allowed to use a calculator,
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Qmshons‘lto‘wcarry‘tmarkeach Questions 11 fo 15 carry 2 marks each. For
eachqueshon four options are-given. One of them is the correct answer. Make your

Q1.

Q2.

Q3.

,3or4). Shadethewmovdmﬂle ' saI-AnswerS.h'&at 0 -maks]

Bob tock 1303econdstorun mundatrack.

He was 25 seconds faster than Pete.

How long did Pete take to run round thé rack?

(1) 1min45s
(2) 1minb5s
(3) 2min5s

@ 2min35s

8 hundreds, 5 tenths and 6 thousandths is

(1) 800.056
(2) 800.508
(3) 800.560
(4) 850.006

P is 5 times of Q. Q s thrice of R. What is the ratio of Rto Qto P?
(1) 1:15:3
@ 1:3:15

(3) 3:1:15
4 156:1:3
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Q4. The number of visitors who wenit 1o a fiower exhibition was 761060
whert founded 1o the nearest hundrad. |
-Whicﬁ—ufﬂwe'ffoﬁbuﬁng shows a possible number of visitors?

(1) 70 085
(2) 70051
{3) 89851
(9 89949

035, Jennyfaoe‘d:.souﬂt-east:aﬁer'mmi;_;g majanﬁ_-a e
What direction was she facing at first? Gloskwise.
() North
(2) South
(3) South-east
{4) North-east

Q6. Thefigure shows a semicircie of radius 21 cm.
Find the perimeter of the figure. (Take 7w = 4";,3 )

(1) 8Bcm

(2) 87cem
(3) 108 cm
(4) 174cm

-2.
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Q7. Which ofthe following is the same as 20kg 8 g ?

(1) 20.008Kg
(2) 20.08kg
(_S) 20.8!@5
4) 2.08kg

Q8. Find the sum of all the factors of 64.
{H e2
(2 93

3 127
@) 135

Q6. Which of the following statements about the angles in the figure are true?

: 4

A Za=JAr
B. Zb=4s
C. Zs=.c
D. £s8=4£q

(1) AandBonly
(2) Aand D only
{3} A Band Conly
(4) A, BandDonly

-3-
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Q10 Study the flloising fable:cs

Which column will he number #4-appear in?

M A
@ 8
@ ¢
@ D

Q11. Guan Ming has 3 empty botties J, Kand:R. He poured an sauatl amount of
mﬂi_(_'int@-ea‘:h ofthem. As 2 result, 50% of Jwas filled with milk, 25% of Kwas
filled with milk and 75% of R was filled with milk. " o
Whatis the ratio.of the capacity.of Bettle J to Bottle R fo Boitie K9

(" 1:2:3
@ 2:3:1
{3) 3:2:8
4 3:6:2

-4.

More papers on SeriousAboutSchool.com/OnlineExams



More papers on SeriousAboutSchool.com/OnlineExams


012, Thefigurels made up.of a gquate and.ai oval.

The ratio of the area-of the square tothe area of the-oval is 2 : 3.
" The shaded area is -‘é the area of the oval. The shaded area is 36 cnv®
Find the area of the figure.

(1) 144 cm?
() 216cn¥
(3) 324cm?
(4) 360 cnv?

Q13. The original price of a box of cookies-was $m. Aunty Loh bought a dozen such
boxes of cookies. She was given a discount of 50 cents for every 2 boxes
pought. How much did she pay sor the boxes of cookies altogether?

(1) $(6m-3)
(2) $(6m+3)
(3) $(12m-3)
(4) $(12m+3)

-5-
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Q. .Ionathanrem 3 books in2 hours. Fe:spent 15 minutes fonger o read the
fitst oot the seconid baok: He spisit the Se SiouRtbf titie £6 feaq

the last 2'bocks. How many minutes did he take toread the firsi book?

) 30
&) 35min
(3} 35 min
¢4) 50'min

Q5. Whtich of the follms i foestn . <
= Which of the following fractions is closest o 17

n 7

@1
2
@ 3
5
1

@ 1

4

- END OF BOOKLET A -
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Class: Pritvaiy 6( )

| Parent's Signature:

MATHEMATICS
PAPER 1

=1 25
(BOOKLET B)

| T TQ CANDIDATE

Wirite your name, class and register number.

Do not fum over this page until you are told to do so,
Follow all instructions carefully,

Answer all questions. - ,
Show yourworking clearly as marks are awarded for correct working.
You are NOT allowed o use a calculator.

AR L
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Questions 18 to. 20 carry 1 mark géach. Write your answers in the spaces provided.
For questions which reguire units, give your answe rs in the units stated. {5 marks]

Q1. Findthe value:of 49:14+7

Ans :

Q17. Express.0.5% as a fraction in the simplest form.

Q18. The table below shows the number of books read by each pupitin a class
of 28 pupils. One of the numbers in the table is covered by an ink stain.

Number of books read by each pupil * 12

8 20

Number of pupils

The average number of books read by the pupils in the class is 10.
What is the number covered by the ink stain?

Ans:

1.
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Q19. A boitle cortains 1 es:jiﬁés-ofmtefl‘ Wendy pours i oflwater fiom
a cup. How.much wateris leffn the botile the? o cfwater into

Q20. inthe squaregrig,

B
6]

4

v

{a) Point . . is West of Paint D.

(b) Peoint e is South-West of Point E.

Ans: (a) Point

(b} Point ____ |

-2.
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provided for -eath guestion srd
_For yuestiotis hich Bgiie unts,

Questions. 21 1o 30 carry 2 matks each. Show your working clearly in fhe space
’ ﬁ I o wij-r ._,. r Y L v e : . .-:‘._. .. ad_
v your answers '

Q21. Whatisthe. r'niss'ing“ nuinber in'the box?

‘Ans:

7 o
Q22. E;- of Ctiristy's spending is equal oo of Kelvin's spending.
VWhat is the ratio of Kelvin's spending to Christy's epending?

Ans:

O23. The figure below shows 2 semicircles. EG is 34 cm.
Find the perimeter of the figure. Leave your answer in terms of 1.

E Fle—20cm —* G

_/

Ans:

-3-
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ghgpmgmphbemsfmﬂmnmnfmpmﬂmedbyMEamm

Number of Cakes

dan

lnv which manm did the bakery pmduae-— of the total number of ::akes
produced in the 5 months?

-4 .
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(125, Wing Lel diiow Yhree ectangles 1o fom 3 figure, Thearees of the rectangles
wete i e refiio 3 5 : 18. She then shaded:some parts of e figure:2s
shown. Whtatdiaction of the figues swas shaded? ‘
Express your answet in-the simplest term.

Ans:

Q26. 16 students were assigned to line.up ina sow from one end to the
othet-end of a:éoriidor to walcome parentsio a.sehool evenit.
‘They had to stand at an equal spacing of 1.2:m apart.
On the day of he event, 5 of the studerls did ot turn up.
As a result, the remaining students had to line:up from one-end to
ine other end of he corridor at a new equal spacing.

What was the new spacing between 2 students?

Ans: cm

-5-
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027, Aschool busean canyznladuas maz childres,

© Theye aré adults and 11 ehiidrenmmeﬁus.
Hewmwmqmpiﬁlﬂren ﬁanﬂaebweany?

2cm ' Izcm

-6-
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dzs,. Mr Tao saved -40% -of his salary. When he increased his savings by 20%,
he would have $400 less to-spend, How much was his salary?

. Ans: $

milk for $0.85 and a banana muffin’ for $1.40.
5 note. She received her change all in coins.
coins:Nora would have received?

Q30. Nora bought a packet of
She gave the cashier a $
What is the least number of

- END OF BOOKLET B -
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Parent's Signature:

' MATHEMATICS
PAPER 2

55

INSTRUCTIONS TO CANDIDATES
Write. your name, class and register number,
Do not turn over this page until you are told 1o do so.
Foilow all instructions carafully,

- Answer all questions.

Show your working clearly as marks are awarded for comect
You are alfowed to use a calculator,

A

working.
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-' eadaquasﬁonam vii ywranmmnmmprovided Forqaeszgg:“v:hﬁg}a

) . .. . . n | ,
Questions 1105 cany 2 marks each. Showwurwoﬁungdeaﬂy in the space provided

. . " . R ) 4*-..;—. -..\t

jame riven $58 aitogether for tieic weskly pocks
1. Fi?e‘ier.a:}:s James were tansuaily_gv\rf&r:r $ ltogeiher e re

money. As James. needed money.fof new books next week; asked

more. As would have 2 :h money as Peter.
$19- _As aresult, he w bé\f:e‘a_asmuch money
wa.mmf:h'msﬁéte'r'slbocketf £ money‘?‘: ,

Ans: $

: 4 dies in a jar. |
There a ved candies and 18 yellow can _ S
> A wlar':uxber of red and yellow candies were rgmoved from th:d jiae;
An eqct of the number of red caridies to the nurnber of vefbw cands
1:23'::;05 - 4. How many red candies were there In the end?

Ans:
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3.

document of 30 pages. Given that the average:number of

Wm%mmhmmawmmmnshgmw omplie her fask?
Ans: . h
Mrwoﬂglsi%ﬁyearsg{dm His son is n o
‘years-you .
Find, interms of n, their total age in3 years’ tlmeyo nger fian him.
Ans: vears
2
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5. Inthe figure below, ABGnaanaqmlateraltnangbmhAB BG= GA
Given £ ABD = = 24"and éADE=44" ﬁndﬁBDEx

c

Ans:
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Forquashonssiaoi? show' your: working ol d for eagh
‘?’hemm Write: your-answers in !i:ho*szpataeasng :rao? o, 7 9PR0% g for e
numberofmarksauaﬁableisshown inbmieets[]mtheendofm questionor

_paﬂ-quasﬁm o [45

6. Inthefigure below notdram fo: scaie,« ABCF i L
, is a; thombiis and BCD is an.
 Tsoscsies triangle. <ABE=39°and £ BOF'= 1285 5an

(a) Find .2 AFE,
{8) Find £ FED.

Ans: (a) ZAFC =

-1

(b) £ FCD = @
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7. The bar graph shows the rigmber of cars:owned by families in a neighbourhood.

Number

Families

Number of Cars

(a) How many families have jess than 2 cars?

{b) From the families who own at 'leas”t_fs cars, what fraction of them
have 4 cars? Give youranswer in the simplest form.

Ans: (2) i {1

o _. i2)
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In & s6ho0); 80% of the bovs and 40% of the girls wesf spectasies;
r spettacies 4 the sane)

For e bojs. and giris who-do ot wear spectacies,
outnumbered the number of boys by 50. How many girls are there

Ans:

thie:nuinbir of girls m ore.
'2 .

(3]
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9 In the diagram below, PQRis ansquilateral t.iangle';a‘nd P;!'Risan isosceles
~ iangl. O is:astralghtine. QSL PR and £ QTR=121°.

Find
fa) £7TRP

() ZQPT

Ans:{a) £ TRP= 2l

) <QPT= {2}
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10;

lesﬁawbemes as Darren. Findiﬁe nurnberef '

At firet, the numbe: otsi?MemesihatRegerandDarmhad was in'the
reitio 5 : 7 respeciively: Regergave"«-afhﬁsh‘awbemesiemsisﬁerand

Dmataasfurhis:j; berries. Intheiand, Rosﬁrhadw as;»maaﬁv

Ans: 3]
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R

in his demonstration on the art of fea making, John first poured some tea
from-a potinto an eMpty cup.

i .I _ o N . .
The amount of lea in the cup: is ry of the anlmun_t_afltea left in the pot
For the second step, he poured 20 m) of milk into the cup.
Finally, hie pouréd 50 mi of tea from the pot info the cup.

. 1 ‘ . |
_The final amount of liquids in the cup was ;-oﬂhat left in the pol.

(a) | Find the.totél amount of milk and tea added from the second and
- final steps.

(b)  Find the origihal amount of tea in the pot.

Ans: {a) {1
®) - {3

9
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12, TrhnglaT is-drawn by:jni‘mrg_,dds;on the square grid belovw,
{a) Draw a right-angled triangte with themearea 23 Triangls T,
Lahelthemanglen - M
(h) Dm’w a pataﬂeicgram w:th Wiice thie perimeter as Trangle T.
- 2
« * - | . - X
. - - R - M . . . .
[ ] - - - - P
. . . o - a
{c) {1
Tbafuﬂbmngsia!emnt;se:ﬂzerm,.féfseomotpowb' tell, | Not possible
Pata v inthe cormect column, ) ool True False Mtofe!!.

The-area of P is twice the areaof T.

10
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13.

Study the following figure.

ABCD is a square &g the area of the circle is 200.96 on?. (Taken = 3.14)
(a) Find theradius of the tircle.

{6) Findthe length of thé-arc AB. N

{c) Find the area of the shaded triangle BCD.

Ans: (aj {21
(b) m
©) (1]

11
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4. Theline graph below shows the: number-of residents in Town A and Town B8
‘whoare iwvolived In-a recycling project froem Year 2000 to Yeat 2020,

TownA . TownB | _

0

p g o
955 2000 2005 2000 0I5 220 A5 |
Year

(a) In which year(s), were there more residents involved in the reaycling moject
in Town B than in Town A?

the racycling project are expected to increase by 25%. Find the'numiber of

(b) For Year 2025, the humbet of residents. in Town A who are. t&%f involved in
residents in Town A who are expectad to be involved.in Year 2025.

(c) Whatis the percentage increase in the number of residents in Town B who
are involved in the recycling project from Year 2000 to Year 20207

Ans: (a) [1]
{b) . . [1]
(c) 2]

12
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15.

total ofwoykers inva restaurant is 266 years.
’-;hh:a\iéﬁ:ﬂg:m éﬂeﬂma@wmmﬂwmﬁmm
The average. agadﬂxe rest of the.witrkers is 29 years.
Findﬂsetoﬁal number dm&mh&er&ﬂmﬁ

Ans:

127

13
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18.  Aaron uses circles and triangles to form fig
The first four figures are shown below,

OA SAD

ABA

A0 oRe

Figure 1 Figure 2

{a}  Complete the table for Figur'a 5and Figure 20. |2

OABA  BAGAQ
AGA®  ABAD
OA®A  ©A®
AGAS

Figure 3 Figure 4

b

ures that follow a patter

ABAG/
OABAL

bl Tl

Figure Number T2 03 4] 5 0 2
Numberoftriangles | 2 { 4 | 8 | 12

Number of circles 2 | 5 8 13 21
tﬁ::;;: g:?cl: zzrges 4 9 18 % 36

{b}

(€)

Find the Figure Number of the paftem that has a total of 729 thangles

and circles.

Find the Figure Number of the pattern with 840 triangles.

Ans: (b} Figure {1}

{c) Figure —_———— 2
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17.

The following solid figure was formed using ten-2:Cniubess
The exterior of the solid figure (including the base of the solid) was painted.

(a) " Find the total painted surface area of the sofid figure.

{b) If the 2-cm cubes were taken apart, how many faces of the cubes
wens not painted ?

{c) More cubes were added to form a big cube.
What is the least number of 2-cm cubes added ?

’

/

fr/ i

yd 1K / l

Ay

Ans: () 2]
{b) 1]
(c) (2]

End of Paper 2

15

More papers on SeriousAboutSchool.com/OnlineExams


More papers on SeriousAboutSchool.com/OnlineExams


ANSWER KEY

YEAR ;2021
LEVEL :  PRIMARY 6
SCHOOL : TAONAN

SUBJECT : MATHEMATICS
‘TERM . : PRELIMINARY
BOOKLET A {PAPER 1)
a1 Ja Q2 [z Q3 |2 a4 (3. Jlos
Qs 3 Q7 1 Q8 3 Qs 4 Qw0 |1
Qi1 |3 Q12 |3 Qi3 |3 Q4 |[a Q15
BOOKLET B (PAPER 1)
Qis | 7.02 | Q17 (1.
200
Q18 | 28X10=280 Q19 | 1.05L = 1050m)
280-12 =268 1050ml - 300ml = 750m|
20X 12 =240 '
280 -240 = 40
‘ 4 - 8=5
Q20 a) C - 1Q21 [210=30=7
b) B , 7x2=14
Q22 | Kelvin : Christy Q23 |1y nx10=10 T
36:35 12 -
Exenx?:?n
1107 +7m420414
: =(17 w + 34)cm
Q24 (6+3+9+1+5=24 Q25 |13+3+2=18
lx2a=¢ 16 _8
4 18 9
ANS : January
Q26 |16-1=15 Q27 {12 +11=23
15 x 120 = 1800 32-23=9
5x 120 = 600
1800 + 10 = 180 cm
Q28 |5x5=25 Q29 | 100% + 20% = 120%
2x—1—x4x3=12 0.4 units = 400
Ix7=1a 5 units = 1000 x 5 = 5000
25412 +14=51 cm2
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Q30 | 0.85 + 1.40 =225
5-2.25=275
ANS:5
PAPER 2
Q1 |s44 Q2 (34-18=16
17 units = 34
lunit=34-+17=2
. , 10 units =2x10=20
Q3 ! 450 x30= 13500 Q4 |[46+3=49
' 13500 + 45 = 300 A6-n+3=49n
300 min = 5h 49 + 49 - n = (98 ~ n} years
Q5 | <ABC=<ACB = <CAB Q6 a) <DBC=180°-39°- 128°
=180°°+3=60° =13°
<CBD = 60° - 21° = 39° <AFC =39°+13°=52°
<CDB = 180° - 60° - 39° b) <FCD =180°-13°-13°-128°= 26°
= 81°
<BDE = 180° - 44° - 81°
=55°
Q7 a) 360+190=550 |Q8 9-4=5
b) 120+ 40 = 160 50 - 5=10
40 _1 6+9=15
160 4 15 x 10 = 150
Qo a) <RTS=180°- Q10 | 5 units — 1 unit = 2 parts
121°=59° 7 units — 35 = 1 part
<TRP = 180°- 14 units — 70 = 2 parts
90°-59° = 31° 4 units = 2 parts
<QPR = 180° + 3 4 units = 14 units - 70
= 60° 70 = 14 units — 4 units
b) <QPT = 60° - 31° 70 = 10 units
=29° 10 units = 70
1unit=70+10=7
Zunits=7x7=49
Qit a) 20+50=70 Qi2 a)
b} Iu+70=1p
4u —50=3p
3u+210=3p
3u+210=4u - b)
50
210 +50=1u
tu =260
c) False
2
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5U=260X5=

1300m|
Q13 a) 20096 -3.14= |Q14 a) 2020 '
64 b) 60000 x 125% = 75000
V64 =8cm c) 62~10=52
b) 8x2=16 22 % 100% = 520%
TX2x3.14x 8=
12.56 cm
c) %x 8x16=64
cm2
Q15 | Total age of oldest & Qlé a} ‘ :
youngest work =41 x 2 Figure 142 4 [5 120
= 82 Number [2 |3 12 181220
Age of remaining of
workers = 256 - 82 = triangles ,
174 ) Number {25 1318 221
174 -29=6 of
6+2=8 circles
Total 49|16 25|36 ! 451
number
of
triangles
and
circles
b) V729 =27 .
27 —-1=26
c) 840+841= 1681
V1681 =41
41-1=40
Q17 a) 5+4+4+4+4+
4+4+4+44+5
=42
42x2x2
= 168 cm2
b) 6-5=1
1x2=2
6-4=2
2x8=16
16+2=18
¢) 3x3x3=27 .
27-10=17
3
END
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